KA RAAREBORBRETIEE © BRENWERNSBERA S R g -

(K3 EASARBIET R 230k ) > EARARTA)
Ol £76—4:72H i 3644 i - 1,2,3,4,6,9,12,18,36
,T_y]\%;ﬁ_l._r],m %% :i 101+7=108@%% ‘§‘J E]& g9l s Ty Ty Ly 1Oy

Bt hdh - BRFHTAE
RigE L&A THRARA?

(72 » 108)=36

HEETHEAHRSE 9-12-18-36A

IRE 49 7 138 (EVRETREL 184 (BALT-T495748
A ERHEEFE 68 » %fﬂ?4ﬂ
HI AR VA 2

IR 50 : A a B 119 85 20 B 159 8 30 B 199
8 4 5 BIEREE a BIRA(EH 2

BIRE 39 : H a Bk 208 e 27 FR287 F)e 7
B 465 &5 3 ¢ AIIE%EE o AURAEAE 2

BE 51 - ANl R A AR a ~ bW I
A A IR S e N (R A
arb~c~d-edHlRAA?

zL b
14 35
d e

-13 -

ERAR TR - (i 86 TG re JUMER 135 RiizE
PR > P RokeE T EE - SERIT TN
%490 HEES M 0K - FEEFKA?

SR FHalr4l4 e 60 Fr 5134 12
B 718 “fhe 175 AEHER o FURZEAE R ?

BEHEM - Halr 34712 4> FR 678 £ 3
Br 481 At Je 5+ AIE#REY o AR {EAE 7

B Sl ¢ AR /NHEREI[4S > a o 36] B -
FIAEE b+3 BBk bx3 » FrLASHELELSE T -
[ [45 > a > 36] AYIERERRE = 7

3[45 a 36
3[15 5 12
4|5 12 4

301

th




ORISER BRI IE TR AR

T, | RS- R2sem s E s RAETHROU6R | 0.
6 = A _ BELNEFHEG=24 ¢
K ' : lﬁﬂ&ﬁ J 1&%[392] 6 r‘jﬁ %3’1\‘&%;[_/%6)(32_54%
6 6-3=2%fx fﬁ_i z B Yo FE 4] Eﬁﬂ/—ﬁ-@qz 643
6-2=3%14x (2x3= wuﬁﬁ,J
QOHEABBEERIEI TR ER
i AR B3 H20 R EHRELFE| FALFREN=T2%
B2 37 B B T2x2=57634
:'!" 2 ."’4—“ liﬁﬁ&d‘i&%[49392]=12 %3’J‘i7fﬁ%72x33=1944ﬁ
: 12+4=3%4 | 15] 4o 2 B B 722x4°=46083
i 12:3=4F fu— (sr%2 Y
\ 1242— 6% 4 (Bdx6=T2s k7 ﬁJ
_______ T

BIRE 52 : RAARSRIGE =9 A% « B=64 BN - FE 54 057 ) 5024 SAHIAHBE
b5 B TALIGEEBR A 7 LL&:;-E K—IE T - %N&J&Elooo B B
A BE Ryl 2 BRMIIEHT » G2 VBAN ?

(A)18 (B)24 (C)36. (D)54 /145y

BIRE 53 * RAEHREN&R =6 m ~ =4  B4EES S HEHEARRE =8 27 =3
Aoy BA 100 BRRGhE BEPEERRIVIE ST - Aoy - STREBHR —EATE » fERIARIREE

(1) WLIEHPMB R R RSN ? M 300~500 {& > f + AR AFANERE RS
(2) TN He SRR 7 oo ?

-14 -




BIRE 54 - = ARIEAR - & 5 BOAR

20 21 ~ 16 a1 ~ 10 2oy - B/ DE S (ERE

KA B IE I 7R 7

BIRA 55 : HEEE R 330 A0 ~ B 242 oy 0 AL
IR - A SRR o LA T A

BRI 8 ©

(A2 ®)11 ©Ol6 (D)2 X5y

BIlE 56 : — R AREMIERA 08 iy~ TR 84 43

55~ BB T0 15y SEIRINE TSN
EI7ARE il

(1) /D EI e 2

(2) ERBREARNELD ?

WIRE 57 - —ERINEE Far > B4
=63 1457 ~ B—42 1553 ~ B =35 45 -

BUEEIRINA MISATET 8 - A2

AT IE T JT R DA 48 2
BT ITBR EF ~ Af - Btk FALEER S

-15-

B SR A 2000 fEA MHSEIHE RS -
R 85 ~ B 6 AT~ B 485 STEHER
BRI TE ST 78 - 7
(1) FErZ PRI ?

(2) BLIETT RSB R R RSN ?

B © TR - £ 252 /3%% ~ 54 180
NG SRR MESTE AT - Bb SRR
HIUF T 2

EEEK  —RIABNWREBI o HR65
IA ~ B 30 255+ S EEITE TR
IR

(1) F/DRITpc e 2

(2) BB REARAT ?

BEEK - —RARIINRELLE - EA
B=156 255 ~ B =96 1457 » =60 A%} >
BT SRR/ MHE MR RS B %
AT TEST R D 441 2



BIRE 58 : — =M > =B &ETAIR 60 &
RO 80 R~ 100 4 R« AR =8 E B -
[ /) SRR 2GR 7

B 59 - —VUER A > DU AR 60 2
K90 AR~ 110 45K 130 AR - FVUETAE
oy RIE (RS~ oAU S e R -
[/ AR 2R 7

BlE 60 : — Rtz 6 L EAVERRTRIE - [EHEEREH
9 B0 20 A RGERE RS - 968 30 AR
A (EHIO (S R ps [ R AR i 5

B ER AR ARG A e 2

FERGR T 3 BRI

BIRE 61 - Ki5EAMER 600 AR - WEHYRIHEIRE
B 30 LR —BIE (Flmdlds ) > BEE
PEIIHGHARE - U BOREE 20 SRS —FIE
[AIhE Th - AN D) ?

- 16 -

BRI - —VUBEAE - VUB R AR 36
DR B AR 608K~ 72 AR - AIRNE
FUEEAER - R SRR 7

AR — A AE - SBESAR 156
IR 234 AR 351 AR - RS BTEEES
BB B - ottt = SRR PR
FHELIR 2

BRI - R 9 N ERVERRRTE - K[EER

BHdR > RFR 45 A RGRE RIS - 958 60 &
A B ERIEAT i PR RS [ e A M5

BRI A 461 2

BB : EESEAE 1296 AR - 19T
TN 24 1R B—380 (TIRERES)  BifFS
RNNGERFRE » iR T 16 24— 20
FAIHE T - A5 4R ) 7



BIRE 62 : — AT £ 240 AR~ 180
KR BRNES 6 A RE ML ~ B
BE S ARME ML | BRI RNES
5 5 RAE—HUESE ~ BUEMES 6 AR FE—HE
FETE o RISETR R AT BV A 4641 2

IR 63 : 008 » 15 44 RINT R - 1 22 4
RBRIATT 9 SR BT » P4 = ERei
ST R R T 2

I P 5

11 15 19 2223 27 31

BIRE 64 : 1 182 iR 1 HVIETTH - Rl
wHr PRI R 84 8198 IR /7T ABCD #1

EFGH - 3 AB — EF HEF >10 » H|AB — ?

e 52

WIRE 65 : #(a,b)=2 > [abh]=56 H a-b=6 >

Ka+b=7?

-17 -

B ARGR ¢ R SRR - IREEBRE A
i BN 10 AREAR > BB 8
AR GERBIIEA 72 BSHER AT
S - BERE A% DA ?

B4k - 4E 1T ANBEERG Tk o N E

B AEYGEE  BE I3 0EE  FRA
B PREAEEE - HIlZE IS B AT [5]— B

BB T A e 4 o BRR 7

(A)30 (B)54 (C)77 (D) 100

B AE - ZIE RS R
144 ~ 108 P » 5 x BAI LS KB
HIEE (38 £ 247 2
i 121

Pl |x

Eagswmagi c H>7Z >0 Bf (H> Z) =6+
B[R Z2)1=72 ER+72=42kBH—-7=7

P



WIIRE 66 « 10 JTHEWE—HE - 4 10 & ~ 15 fi# ~ 25
8 BOFT 7 FchERE - R HEERE D%
/DIe 2

fIRE 67 : 35— 9 RN 6 Pk 3 W S BRed 2
RIBEE: 15 BRAeRBkyfa 2

BIRE 68 * HIEFERA 3 EbReR 1 0 A 5 BFRER
2 7 EBrER 3 0 AR 1000 - A

# (2

B 69 : == [MF 108 {EEHZ Fe 180 &R T+
sréaEdEEER > MISFseR T CAIBRAEAN
Bt 10 ABLE - RUERARAY AT RE R 28 A 7

PIRE 70 © FAHEUEAE 8 1 30 S Y - 4F
10 00 Fz 12 : 00 t &3 —HEs > TR
(rEI PR e HI kR bR 58 R 5% o o
#HH—R?

-18 -

EEES - 500 uehR—B - 3R 55R
78 HFRIT 2 sREVEE - Rpb B =R/
Z/be?

AL AR - —HORE 10 BERY 12 BBk 0 RE 13
REMY 15 #&Br > W 16 REWE 18 #EER » AIILEL
MRS 2

ERA AR - —HEER > FE3E 4 SE—
BRI 2@ - B 7 E—8 F T 3@
AR/ DH & ?

ERAE TSR ¢ SRR 84 {ERfFZ Rz 126 {EHER T
ForsaaItEE - iErsEssiR o EREE
ANEHE 15 ABLE > 30 ABUT » RIHES 4=
FIRVBHZ BN R 25 2 7

ERAETRGR © HUNEEIRTE 7 20 SRS P
FE10 ¢ 15 B 12 ¢ 35 &8 —f s - ©and
R FREE R e - IR i R % 7
L —?



